












Lesson 4-7  Congruence in Overlapping Triangles 	 271

	 28.	Reasoning  Draw a quadrilateral ABCD with AB } DC, AD } BC, and diagonals AC 
and DB intersecting at E. Label your diagram to indicate the parallel sides.

	 a.	List all the pairs of congruent segments in your diagram.
	 b.	Writing   Explain how you know that the segments you listed are congruent.

Proof

Mixed Review

	 33.	Developing Proof   Complete the paragraph proof.

		  Given:  AB � DB, � A and � D are right angles

		  Prove:  � ABC� � DBC

		  Proof:  You are given that AB � DB and � A and � D are right  
angles. � ABC and � DBC are a.  ?  triangles by the de�nition of  
b.  ?  triangle. BC � BC by the c.  ?  Property of Congruence. 
� ABC� � DBC by the d.  ?  �eorem.

	 34.	Constructions  Draw a line p and a point M not on p. �en construct line n  
through M so that n# p.

	Get Ready!   To prepare for Lesson 5-1, do Exercises 35–37.

	 Find the coordinates of the midpoint of AB.

	 35.	A( - 2, 3), B(4, 1)	 36.	A(0, 5), B(3, 6)	 37.	A(7, 10), B( - 5, - 8)

See Lesson 4-6.
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See Lesson 3-6.

See Lesson 1-7.

	Standardized Test Prep 

	 29.	According to the diagram at the right, which statement is true?

	 	� DEH � � GFH by AAS

	 	� DEH � � GFH by SAS

	 	� DEF � � GFE by AAS

	 	� DEF � � GFE by SAS

	 30.	� ABC is isosceles with base AC. If m� C = 37, what is m� B?

	 	37	 	74	 	106	 	143

	 31.	Which word correctly completes the statement “All  ?  angles are congruent”?

	 	adjacent	 	supplementary	 	right	 	corresponding

	 32.	�In the �gure, LJ} GK and M is the midpoint of LG.

	 a.	Copy the diagram. �en mark your diagram with the given information.
	 b.	Prove � LJM � � GKM.
	 c.	Can you prove that � LJM � � GKM another way? Explain.

SAT/ACT

hsm11gmse_0407_t05015

D

G

E

H

F

Extended
Response

hsm11gmse_0407_t05018

L

J

M

K

G

�+�6�0�����6�(�B�*�0�B�����������L�Q�G�G���3�D�J�H�����������������������������������������3�0���H�S�J�� �����������3�(�����������B�0�,�*�5�$�7�(���+�,�*�+�B�6�&�+�2�2�/�B�0�$�7�+�B�����������1�$�7�,�2�1�$�/���6�(���0�$�7�+�B�����������*�����;�;�;�;�;�;�;�;�;�;�B�*����������




